Sales /1G GASEOUS INTERCOOLING™ 8/00, rev. 15

Tvrrcal DELUXE GASEOUS INTERCOOLING™ SYSTEM
W/AUXILIARY RESERVE Tamk

1/2" VENT

The Carroll Supercharging Company, Inc. 30— o= 973-835-1705 « Fax 973-835-1660



8/00, rev. 15 GASEOUS INTERCOOLING™ Sales /1G

Tvorcal DELUXE GASEOYS INTERCOOLING™ SYSTEM
W/AVXILIARY RESERVE Tank PURTS L/IST

ITEM DESCRIPTION QTY  PART NO. CHECKED
T, NOZZLE, Gaseous Intercooling™, StainlesSSs SIEEI .........cvcveveviviiiiiiieiccccce s 1. N-12 O
2A ... GROMMET, for nozzle holder into 1/8" AUMINUM .....cvoviveiiiceeeeeee et 1. 495-002 ............ O
2B GROMMET, for nozzle holder into 1/4" @lUMINUM .......ovieeieeeeeeeeee e 1. 495-016 ............ O
K ADAPTOR, brass, nozzle holder, 1-3/8" long x 1/8" FPT

HOSE, discharge, 7mm x 48" long

I ADAPTOR, nylon, pump discharge, 90°, 1/4" NPT x 1/4" barbed h0OSE ..........ccccvvverriirerrrerririeennns 1. L4-4BN.............. O
8 i, ADAPTOR, nylon, pump inlet, 90°, 1/4" NPT x 1/4" barbed h0SE .......ccoevvveeeeeireeeceeceece e 1. L4-4BN.............. O
9 PUMR high pressure, 12V DC electric motor, #4 Cam .........cccccceveeiiiiiiieieeeee e 1. 2130 oo |
SCREW, TEK, #10-16 X 1" fOr puUMP MOUNL .......coiviiieriieeieeee et 4. NPN oo |
CONNECTOR, electrical, 2 position female, pUmMpP MOTOF..........ccccveieeeeeieeeeeeceee e 1. 12010973 .......... Oa

... CONNECTOR, electrical, 2 position male, harness to pump motor ..........cccoeevevevieevieeceeeeee e 1. 12015792 .......... O

HOSE, water pump supply, 5/16" X 15' VACUUM NOSE .......ceververiiecieiciceseecee e 1. 91-543 .............. O
CHECKVALVE, for pump inlet hose, 3/8" X 3/8" DArbed............cooeveveeviveeiieeeeeeeceee e 1. A430 ................. O

16 e STRAINER, WAL .....eeeeeeieieieieietsie ettt ettt e et e e nerenennees 1. 81-0240 ............ O
17 e ADAPTOR, nylon, reservoir outlet, 90°, 1/2" MPT x 3/8" barbed h0SE ..........cccoeerririrerriiceeree 1. L8-6BN.............. O
18 STRAP s/s, 10 retain reSErvoir 10 VENICIE .......cc.viiieeceeee e 2. A1363 ............... O
19 SWITCH, JOW WRLEE ...ttt s et s e 1. 1870-024 .......... O

22 i SCREW, s/s, 1/4-20 X 1.25" 10ng, r€SErVOIr MOUNL .....ccvciivieieteeieiete et 4 ... NPN ..o O
22 i, WASHER, 1/4" S/S, FBSEIVOIr MOUNL .....c.eiviieeeiee ettt ettt et e e eaestesresteereeresreereeseeseeeeseeeeas 4 ... NPN oo O
22 . WASHER, 1/4" s/s, fender Washer, reServoir MOUNT.............covevivevirieriieeeieseeresseteeseseereeseestereesssereseas 4 . NPN ..ooooviiin O
23 ADAPTOR, nylon, reservoir vent, 90°, 1/2" MPT x 1/2" barbed h0OSE ........cccovvuerviviriieeeccen 1. L8-8BN.............. O
... HOSE, vent, 1/2" id x 15' (rubber) BRSSPSR DTN 0532-52 ............ O

FILTER, fOr VENT NOSE ....eeiiiceeiseeee ettt snenenenens | enea CA-6592 ............ O

CAR, WALET fill GHT ..ottt n 1. 62168 ............... O

27 e ADAPTOR, plastic, male GHT 10 1" NOSE ......cecveierieeeeeeteececeee ettt 1. 63020 ............... O
28 i “0” RING, #211, to retain hoSe fill 10 BraCkel..........c.ooveeiiieieeeee e 1. 211 e, O
29 i BRACKET, stainless Steel, WaLEr fill............cooviiieeicece ettt 1. A1478-1 ............ |
30 e, HOSE, fill, 1" id X 15" (NBW TIBX) ..voveviiieieeeeee ettt 1. VHF 1000 ......... O
RESERVOIR, 6 AlION .....eoieecieicieieieieieiciceieeeenereeere e e se e sesessesenssensnsnensnnnes | aeens 1363 .o O

The Carroll Supercharging Company, Inc. PHONE 973-835-1705 « Fax 973-835-1660

—31—



